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ANM(R) & GNM-2023
LIFE SCIENCES
Category-1(Q 1 to a0)
y | mark each, Only one option is correct.

\tiasis is caused by which one of the following organisms ?
(B) Fasciola hepatica
(D) Hirudinaria granulosa

(Carr Negative marks: =)

1.  Filariasis or Elephai
(A) Taenia solium

(C) Wuchereria hancrofti
e (T W e R aferaoafsor 8 20 7
(B) Fasciola hepatica

(A) Taenia solium
(C) Wuchereria ban rofti (DY Hirudinaria gmmrh:m
ine in DNA ?

e following is the complementary base of guan :
(D) Uracil

2.  Which one of th

(A) Adenine (B) Thymine (C) Cytosine

fyfefreefFa @Al DNA-AF 50T wfHee s wa 7

(A) SIS (B) w2 (c) HMEEHE (D) 2AHA
{ 3. At which phase of meiosis are homologous chromosomes separated ?

(A) Prophasel (B) Prophase Il (C) Anaphase | (D) Anaphase 11
' a3 (@ AT TR CAeTe et S aige 2 2

(B) T 11 (C) SOFTEE | (D) SyEcEE 1l

(A) ToCEen |

of tropic hormone ¥

he following is an example
(D) CCK-PZ

4. Which one of't
(A) ACTH (B) Gastrin (C) Secretin
ﬂmmﬂﬁﬁfwqu?
(B) MG ) el (D) CCK-PZ

(A) ACTH
The book ‘Systema Naturae’ was written by
(A) Charles Darwin (B) Carolus Linnaeus

(C) Robert Harding Whittaker (D) Jean Baptiste Lamarck
‘Systema Naturae’ H[H<F 48fb 7 a6l T

(A) Charles Darwin (B) Carolus Linnacus

(C) Robert Harding Whittaker (D) Jean Baptiste Lamarck

6. Which plant does exhibit hydrophily 7
(A) Hydrilla sp. (B) Pinus sp. (C) Oryza sp. (D) Nelumbo sp.
@ B zrRugfef awiie zu?
(A) Hydrilla sp. (B) Pinus sp. (C) Oryzasp. (D) Nelumbo sp.

7.  The wings of a bird and wings of an insect are
(A) Analogous structure (B) Homologous structure

(C) Vestigial structure (D) Phylogenetic structure
#fff{ B G A ST T

(A) W’ﬂﬁ (B) me
(C) TawE™ 7o (D) WSEReS oW

B 0000 o

e T ok




ANM(R) & GNM-2023

-
eroid hormone |

Which one of the following is not 4 st (D)  Estrogen

8. : * Insulin
{A) Testosterone (B) Progesteront (©
ffafeefém raml ORI TAAH JH Y
sl ie%e a Wy B (D) EFrhees
- (A) TOCRICGTH (B) TererCowe L4395
l' : ; o ; : .:*
,'I Q, Which of the following is r1l;||ll|:|-’ associated with the maintenance nl—pnhl.i.ll'LP
: : : ns
i (A)  Cerebellum (B) Cerebrum (C) Thalamus (D) £
fFyfFfresfim @R sy s Ruars Y afes ?
1 (A) THREny (B) g (C) ST (D) *#=A
f 10, The complex molecule consisting of a DNA strand and a core of histone octamer i5
| {A) Centromere (B) Nucleosome (C) Nucleotide (D) Chromosome
! DNA &F @3t fGrom SBe -9 sy ofbe ufte wefi g«
(A) Traf (B) fefaerems () Fefpeires (D) TEFICSICST
|
| 11.  The most abundant lipid in a cell membrane is
e g {A) Cholesterol (B) Glycolipid (C) Phospholipid (D) Steroid

[ETHAIY FAECH (3 21 fferefd ze
(A) TREBT (B) sErzfefere (C) wHrfEfrs (D) ToATS

Which of the following molecules move regularly from the nucleus to the cytoplasm ?

12
1’_.-’\] Glycogen (B) RNA (C) DNA (D) Cholesterol
bt WS efffre et 8wy waRfre o
(A) HETFIE (B) RNA (C) DNA (D) [AECOTH

13.  The main function of platelets is to
(A) destroy tumour cells (B) produce antibodies
(C)  stop bleeding from cut wounds (D)  kill bacteria by phagocytosis
S o4 e @H '
(A) B8 rore fawe oy (B) wifafE Be sy o
(C) JOrHS AT TGS 7% 2531 (D) TICMAEGIEH et amedfira yesr vy

14.  Which one of the following is an example of vitamin ?
(A) Asparticacid  (B) Stearic acid 4l (8 IC aci
Stearic ¢ (€) Glutamic acid ) scorbic aci¢
i \ itl e cid (D) Ascorbic acid
(A) SIemRfs wnfis (B) Poufae wifse
(O PRESBE () wereRe s

ANM(R) & GNM-2023 ) e
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I15. The acrosome of sperm contains

(B) Mitochondria
[:}j I?N.? se (D) Hydrolytic enzymes
{ ructo:
Bofye e
DI SIS
(A) DNA (B) WRDreEY
(C) Feore (D) SrdfRCres SLrhs FiE

: : in mitochondria ?
Which eukaryotic organisms, among the following do not contain mitocho

(A)  Chara vulgaris (B) Monocercomonoides exilis
(C)  Monoblepharis laevis (D) Marchantia polymorpha
e F8enfishes feefer wog rrbe @Y STeEs 2
(A) Chara vulgaris (B) Monocercomonoides exilis
(C)  Monoblepharis laevis (D) Marchantia polvmorpha

In the stomach HCY is secreted by

(A) Zymogen cells (B) Kupffer’s cells
(C) Oxyntic cells (D) Mucous cells
ML ARGIHRE WIS Rrvvae w02
(A) SRTICe (19 (B) TEIEAT3
(€) wf¥Ew o (D)

I+ Ty

Which chamber of the heart has the thickest muscular wall ;s
(A) Right atrium (B) Left atrium (C)
BTS2 114 ofrah e o porita v oI 2

(A) ©F Sfery (B) m féry

Right ventricle (D) Left ventricle

(C) ©mF ey (D) a9 fRey

Energy is stored in the liver and muscles as
(A)  Glycogen (B) Cholestero]
TFO G NS s Roia e 2y
A M (B)



-2023 .
S0l A of digested food in human

20. Which one of the following parts is responsible for absorption
(D) Small intestine

being 2
(A) Oesophagus (B) Liver (C) Pancreas
Froa rer w2 1Mo WarATE #AIBE AT TR oA AT 2
D) =o¥
(A) gt (B) TS (C) SHPTE (

21. In BCG vaccine, the full form of BCG is

(A) . Bacillus Calmodulin Guanine (B) Bacillus Calmette Guerin

(C) Bacillus Clostridium Gonococci (D)  Bordetella Clostridium Guenn

BCG BYeme r#12 BCG -3 99a%0 &=

{A) Bacillus Calmodulin Guanmne (B) Bacillus Calmette Guerin

(C) Bacillus Clostridium Gonococei (D)  Bordetella Clostridium Guernn

22.  Which of the following plant hormones is responsible for bolting phenotype ?

(A) Cytokinin (B) Auxin (C) Gibberellin (D) ITAA
e Efew zaramefem @l @5 rembRrE oy Wit o
(A) FEOCRERT  (B) WA (€) fEr=mfem (D) I1AA

23.  Which of the following pigments is found in the skin of human body ?
(A) Anthocyanin (B) Cyanidin (C) Melanin (D) Opsin
fafefee sgeelm (emi wmarTes gz e g o
(A) SIeEEAA (B)  smfafes (C) Twefm (D) ==fEs

24.  What is the type of nucleic acid found in HIV ?

(A) ssDNA (B) ds DNA (C) ssRNA (D) dsRNA
memﬁwﬁiﬁvmﬁw@mm?
(A) ssDNA (B) ds DNA (C) ssRNA (D) dsRNA

ANM(R) & GNM-2023 ' ' 'k- I— T
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25,  Leaves of which of the following dicotyledonous plants show parallel venation
(B) Calotropis procera

(A)  Mangifera indica
(C)  Cualophyvitum inophyvilum (D) [xora sp.

BrEere rem G e Sfeoie o wmaas et O 0

(BY Calotropis procera

(A) Mangifera indica
(D) Ixorasp.

(C) Calophvllum inophvilum
; : e
If heterozygous offspring is crossed with homozygous recessive parent, then thi

26.

phenomenon 13 called
(A) Back cross (B) Testcross

Reciprocal cross (D) Epistasis

(C)
U TGRSR SoITST2 WX (RIAISNE T sfven WHAST MFAUT WIH & &= i

WS T &y

(A) TN (B) ©5 &9 () wieremwt (D) aProfm
27.  Which of the following molecules is glucose 7 ]

(A) C,H,C, (B) C;H,OH (C) CH,0, (D) CgHy O

fryfefTefn el grom w2

(A) C,H,C, (B) C;H,OH (€) CHLO, (D) CgH 04

28.  To which part of the chromosome nucleolus is attached ?

{A) Chromomere (B) Telomere
(C) Primary constriction (D) Secondary constriction
CFICHICSICNR [T S0 REfPear Heye ona 2

(A) T (B) TorefauR (C) eefie ¥ (D) Toftet ey

29.  ABO blood group of human was discovered by
(A) Carl Woese (B) Karl Landsteiner (C) Karl Fischer (D) Karl Pearson

A ABO blood group -93 SIEFRS g
(A) Carl Woese (B) Karl Landsteiner (C) Karl Fischer (D) Karl Pearson

30. Example of *Ex-situ’ conservation is

(A) National Park (B) Reserve forest
(C) Seed bank (D) Sanctuary
GF-GF F3H1o7 Tz T

(A) WERIBAH  (B) wIwEW () e (D) SSWAT

ANM(R) & GNM-2023 - colotes




31.

34.

35,

ANM(R) & GN M-2023

Life Science
ive marks)

Category-11 (Q 31 to 40) rect. No negat
(Carry 2 marks each. One or more options are ¥ ulocytes ?
, cell or cells is/are known as agran

T +wing white blood
Which of the following (B) Monocylte

(A) Basophil .
(C (D) Lymphocytes o 9
Rafefe T o1 2 O fraTefey ST T e Biee &
(A) T (B) WANIED
(€) Mg (D)
Which of these are false fruits ?
(A) Banana (B) Tomato
(C) Apple (D) Strawberry
e Rl s e ?
(A) =i (B) GrTHT
(C) wrefet (D) “GfR

Which of the followings are not present in prokaryotic cell 7
(B) Nuclear membrane

(A) Nucleus _ _
(C) Ribosome (D) MNucleoid material

N rae R rrEfasBe e A A 2 ]
(B) MEfEs =@

(A) efEams :
(C) NSRS (D) ey =g

Which of the following statements are not correct ?

(A) ADH s a peptide hormone. .
(B) Thyroxine increases the BMR of the body.

(C) Prolactin helps in digestion.
(D) Somatotropic hormone helps in reproduction,

frafefere Sferefera e romef s 739
(A) ADH @3fi to9518w zaram

(B) ¥1Z3fE *TF BMR 3% 317

(C) THETER 5T Nz o

(D) TTRIGERF TR & 2 A

Which of the following character(s) is/are °nt |

‘ present in Z-DNA ?
(A) Leﬁ-hande.d helix (B) Formed in high salinity
(C) 12 base pairs per tury (D) Helix pitch 34A
Z-DNA T8 I3RS (o 2afiey 1 tePorofe a0
(A) TRfFg-ImRs '

(B) G55 waH Wrg

(C) a3 9dame 12 6 et (D) Eﬁaﬁsnﬁmw

T e T

ANM(R) & GNM-2023 E



2 s > F
ng the following celj typesiin Xylem tissye is/are dead -
(A) " Trachejds (B) Trachem_f o
©)  Xylem fibres (D) Xviem parenchy
IR s PRI / rarmetsy T5 2
B) Gifeq
(A) m"ﬂi‘m (
(C) =78y &) (D) o3y SlleEEr e
37 humap, deﬁciency of calciferp] feads tq ; .
(A) Night blindnes (B)  Beri Beri
(& Rickets

(D) Osteomalacia
wwwaﬂw © Z5y

(B) RBerj Beri
(C) Ricketg (D) Osteomalacia

(B) Tetan us
(D) Pneumonig
o5 ey G/ e e

| ST SIRIT W rasy
(A) AIDg ; (B) frsamy
(©  EFgry (D) ey
39, The salient featyres of Phylum Chordaty are
(A) Presence c:-memUchord
(B) Presence ofNorochord
(C) Presence of dorsg) hollow tubular nerve corq
(D) Presence of Phar}qrgjai &l slitg
MCE ]
(A) mew%a

(D) =firey T o Soifyw
40. Which among the toHowjng 18/are Coenzymes o
(A) FADY (B) Mg2+
(C) Mnp2+ (D) Vitamin o
Fyfofis W@%% Coenzymeg v
(A) FADH (B) Mg2+
(C)  Mn2+ (D) Vitamin 4
ANMCRJ & GNM—ZﬁZJ
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NM-2023
Ph}rsical Science

(L'ate;.:ur_\f—l (Q 41 to 55)

(Carry 1 mark each. Only one OPtion is corpece.

Negative marks: =)

41. Which of the following statements IS true for H.S 2
I (A) Itis a strong base. (B) Itis neutra,
/| (C) Itisamild acid. (D)

Itisga Strong acid.

H, S~ T%0a M54 (1 Sfefo 1wy 9
(A) Gt 9l R =g (B)  «ft fgroms
(©) ¢ 935 37 s (D) b qfs =Rt wfors

42. The solubility of common sa]t In water at 0 °C is 40. Approximately how much
common salt is required to make 100 g of saturateq solution at 100 °C ?
(A) 2857g - (B) 404
(C) 35g | (D) 20g
100 °C -9 WWWW%E{H@?W:W LTS 79 (oF IS oy
FOU! AT T Sfrarer
(A) 2857g (B) 40g
(©) 35g (D) 20¢g
43. Milkis a
(A) saturated solution (B) Supersaturated solution |
(C) colloid | (D)  suspension
74 93>
(A) - Fores g (B) wfSsyes maq
©) FeEs (D) &y
4, Sulphuric acid 1S:
(4) mono-basic (B) di-basic
(C)  tri-basic (D) tetra-basic
Wﬁ?}f“‘l’!ﬁ?ﬁ:
(A) T wEy (B) Rwdy
(€) fewdy :

(D) sw-wITy

e e e e s

e e




46.

47.

at an angle of 37¢
a
nd emergeg from the other sj

ifrﬂﬁ‘acting index of }
. las

(A) 320 £1ass with fespect of air {5 1.59 B e value <o
(C) 720 (B) 4ge°
e BLas 301 <o ot 4y g s
GRCF 32° T MoAfow zoey e Bregy

1.5 0 -9 J9 ¥ 9
(A) 8327 o

(B) 48 . (C) 720 (D) 495,:

uired Sofi
to melt 100 g of ice kept at 0 °C into water and tully convert

ilqw much heat is req

it mto steam? (Latent heat of meltine rof ; ifi

vaporization of water are reSpecliw]:llj,lxlEgDOiallzj fiﬁ}gig Zitdosfd.‘gzﬁg?nd !

(A) 72 kecal (B) 10 kcal

(C) 18 keal (D) 64 keal

0 °C T¥ery AR 100 gwqﬁmwﬁmﬁwwwﬁmwm‘m? (e
F ?‘cﬂ?@’f, GlAd WIS O 8 TEw IS TS ZHA AT 80 cal/g,

I cal/g °C and 540 cal/g) |

(A) 72 kcal (B) 10 kcal

(C) 18 kcal (D) 64 kcal

A vessel is filled to the brim by a liquid. It is observed that the vessel always remains
filled to the brim even if it is heated or cooled. What is the coefficient of real expansion

of the liquid if the coefficient of linear expansion of the material of the vessel is ‘a’?

(A) « (B) «/2
(C) 2a (D) 3a

aﬁmmwﬁmwﬁwwW|wmﬁ,mﬁ@wmwﬂwﬁ
WWW’L‘TW!W@WWW@@W‘&’W@WW

AT &NE FE ?
(A) o (B) a2
3a SIS
(C) 2a (D) RN e s
- kolongis &

s a— Yoy
. - e — R,

s s =
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48.  GPS stands for Global Poly-Silicon Store

(A)  Global Poles System (B) Global Position gtructure
(C) Global Positioning System (D)
GPS *tos o 51
(A)  TATeT Tofey Bir5y (B) e “Afer-File
(C)  TRIeT *ffersfae Pirow (D) e AT I
49.  The principal constituent of the atmosphere of the Earth is
(A) Oxygen (B) Carbon
(€)  Hydrogen (D) Nitrogen
%Wﬂﬁmww
(A)  Sf¥re (B) T
©) e (D) TERGIE
> 30.  Product of force and velocity is called
” (A) Work (B) Power
(€ Energy (D) Momentum
T @R @eorg STFAE Je7 27
(A) Zrer B) *ye
(C) =fes
) (D) 3
o Inanﬂmeter=?
(A) 107 meter
(B) 10 Mmeter
(©) 10~ meter (O3 112
07" met
| WA = er

(A) 107 fiprg
(B) 10 figry
©) 10 fiprg

‘ = ) kolom
M(R) & GNM.2019+ e



53.

I GB memory is dpproximately

—_ times larger thap | MB memory
A :
el ®) 1000
(C) 100 . (D) 2
JMBWNWIGBIWM ® 35 |
(4) 10 (B) 1000
(C) 100 (D) 2
54. LPG used as domestic c;oeking £3s is composed mainly of
(A) propane and butane (B) methane
(C) natural gas (D) acetylene
T MG (LPG) -43 o7 S 2o
- (A) A 6 REo (B) Tz
(C) efrpfew M (D) e
55. Which of the following is the main component of baking powder ?
(A) NaHCO, ' (B) NaCo,
(C) NaC/ (D) HCI
MBS (IR <13 GO 37 Sofai 2
(A) NaHCO, (B) NaCO,

u(;) NaC/ (D) HCI kolom
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Physical Science

Category-11 (Q 56 to 60)

correct. No negative marks)

i are
(Carry 2 marks each. One or more options

56. If a ball is released to ground from any height, B hretic tnersy e
(A) When it hits the ground, its potential energy 13 m
maximum,

(B) At any point during it !
(C) At any point during its fall, it has both potential . o
(D) When it reaches the ground, its potential energy 1 maximuni.
G 3 (I S5l LU s 'Le Mt

1 R
(A) <D T3 SfiTe TR TRUe Efemfer 4y 8 sfefee AT
(B) oI (4 (I SR TG 1 7 2 |
(C) “oRSIER [ (I SRy =i fFfemfe o sfe=fas H2-2 9T |

(D) <3 T BTS T T30S Ao odes <4

i nstant.
211 the total energy remains €O 2]
o energy and kinetic energy.

¥ )

If a cracker thrown verticalljr upward bursts into two pieces; one piece flies to right with
an angle 457 to the vertical; the other piece flies to left with the same angle to the vertical

as shown in the figure. This is primarily due to,

(A) Newton’s I* law of motion.

(B) Conservation of momentum,

(C) Acceleration due to gravity.

(D) Sound produced by the cracker.

@l e e S fre T 15 TS TR B 200 @ B Sarys
ggyw%aawwa:ﬁ%mmmwmﬁﬁwmml <3

(A) ﬁ@ﬁ[ﬂ'{ﬁwwl

(B) SRR eqwHH |
(C) wiowde gz

(D) WWW|
S T T e Mt RN ____kOIOm .

——— e
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[ f : English o
i " -1 (Q 61 to 75 et
Il Category-I (Q . arks: —'4)
I (Carry 1 mark each, Only one option is correct. Negative mar
1] :
ol.

; italicized words ip the
Choose the word, which can most appropriately replace the
sentence —

11 being.
A person can be sentenced to death for kitling anorﬁ"E{' human being
(A) patricide (B) hom-lc.:je
(C)  genocide (D) fratricide

62. Choose the most effective word

to fill in the blank to make the sentence me:ariingfu][y
complete, i e ” :
Some people themselves into believing that they are indispensable to the
organization they work for.
(A) force (B) delude (C) keep (D) ask
63. Choose the most effective word to fill in the blank to make the sentence meaningful]y
complete. . .
His of the subject was so good that students had very few questions to rajse.
(A) exposition (B) clarity (C) disposing (D) €Xposure
,)- 64. Choose the most effective word to fill in the blank to make the sentence meaningfully
complete,
Those who have well their transition from village fife to city life haye
Prospered., :
(A) managed B)  taken (©) tried (D) finalised
65. (.‘.'1f,~¢:}lser the most effective worg to fill in the blank ¢4 make the sentence meaningfully
complete,
This is the______ﬂ_ chosen for the school to come up,
(A) site (B) sight (C) plot @) ares
66. Choose the 0 i ! 3
blanks in ghe Stvzppmp?ate P oL Words from the options 8iven below to ] in the
n -
e glven sentence jy, the same order to make the sentence Meaningfully
_Thf: —_ imposeq for Non-payment vyas too : e
Improvemen. == or' it ta bring in any
(A)  penal .
e LT (B)  toll, simpje
g -,(.C)_ Punishmen; harsh

—

22 0y (D) fine, Severe kolom
M(R) & GNM. 2075 "



59.

60.

(A) Steam attac
e 1 attacks human body with more f;
€4dm contaj i
e : ains more heat than boiling +
team is a vapour =R m-ﬂamu e
(D S i ‘ L8 B, S-
) team is hotter than boiling water.

TOS BT BT PO (retty am) e
(!\) %Wmﬁmﬁ; ﬁ@ﬁm,ﬁmq‘
(B) 3% sy PO wbs wirere

© 6% @3 v LR ST ot et aicer |
(D) 53 WA BT FHT e @ o '

Which of the following statements are true ?
(A) Liquids and gases have fixed volume but no fixed shape

(B) Solids have fixed volume and shape.
(C) Solids never diffuse in each other.
(D) Gases do not have any fixed shape.

e o o Sfwefa ww e
(A) ©FE 8 MG T AHS AT [F TR 3T S e 1 |
(B) 3o =mirda 3+ wen 8 wIgfe U |

() <3 Adefem Ty SR WP A Rew=ta 1 )

(D) M7 AR TR Ao SgfS TR |

When a balloon is blown with air and its mouth is tied,
(A) All air molecules inside become fixed in their positions.

(B) There will be empty spaces between those air molecules.
(C) Those air molecules keep moving randomly and often hit the balloon surface from

inside.
(D) The air inside becomes solid.

a3 rae 20e facw e T a0 e

(A) Rowraa 30 T e fe e S Sy 208 T

(B) 2 AT e W78 S A T e A |

(€) amwﬁwﬁwwmﬁmwawwwmm

S FAO ACE |
#f§Te
fEwras g F T A0 W | il

R (D)
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'6 . h 0S > b : . ‘ :
? 't O ] ull]l [}IHIEI Il | 0 r 5 I- m h - fi]ti‘! i |—',
t E ong ;l_|"-"-.‘-1| i‘jl Wk
L i nll}ﬁ T =N} Ly h 13

blanks in the 8iven sentence in the same order 1o it I in 4,
complete. " ke the senterics mc;mj,_,:,;g-u;;:
We ey L tihave him _here to mae this function 4 o . “
(A) Pleased, over (B)  happy. lie R Sccess

(C) proud, leave (D) S{:-r‘:}f:-nuer

68. Fill in the blank with the most 4ppropriate word)or f wor 1
meaningﬁjlly Combles Eroup of words o make th; Senfence
We should not be indifferent
(A) of (B) to (C) from
69. Choose the word, which has nearly the same meaning ag OBLIGATORY.
(A) Agreeable (B) Required

the sufferi Dgs of our fellow men,
(D) at

(©) Stubborn (D)  Useful
70. Choose the word, which has near] Y the same Meaning as EXUDE
(A) Drop (B) Ooze
(C) Overflow (D) Evaporate
71.  Choose the word, which is Opposite in meaning to IMPOUND.
(A) Compound - o (B) Generate
(C) Dollar. (D) Release
72.  Choose the word, which is opposite in meaning to CHIDE.,
(A) Request - (B) Criticise
(D) Praise

(C) Advocate _

73. Pick out the word that has same meaning or Opposite meaning to

either nearly the

EXONERATE. - | :
(A) Escalate (B) Admit
(C) Accuse _ (D) Reject

74.  Choose the word that can replace both the words in italics in the two given sentences.
L The management did not find him suitable for the Job of a clerk.

Il.  Akash could not arrange all parts of the machine properly.
(A) fit (B) employ :
(C) finish (D) adjust

75.  Observe the two italicized words in the following two sentences and give your

observation by choosing any one option below.
[am indebted to my friend’s wise councel. :
Some members of the counsil walked out of the meeting.

(A) Only sentence- is correct.
(B)  Only sentence.1f i correct.

(C)  Both sentences I and I are correct.

(D) Neither sentence | nor sentence II is correct.

.y
LW T T ——
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Mathematics
e Ty 5 tive marks: =%4)
(Carry 1 mark each. Only one option is correct. Nega ‘ |
: iters per hour. Then how many hours does it ta), ,

; ; I :
Il water in a tank at 2100 m and height 30 decimeter 7

76. A pump can fi b e
to fill a reservoir at length 7 m, breadtil <
(A) 5 hours Eg; gg(:igzﬁs
(C) 60 hours . e T
dﬁfﬁfﬂ”ﬁﬂ*ﬁmﬂﬂﬂﬁﬁﬁﬁﬁmpﬂﬁlwz hqu BT 3
S 30 (ERRGE Srrery wre wa g AeAE FOF BIFICS
(A) S50 (B) 50% 01
(D) 500 9751
s 4 times of total surface are,

77. A and B are two solid spheres. The total surface area of B i
of A. Then the ratio of the volume of A and B is
(A) 14 (B) 4:1
©) 18 ' (D) 8:1
AGBﬁWWrB—MWWA-mWW4Mg
BIZ(E A 8 B 9 SESET S 6 2(E ?
(A) 14 (B) 4:1
(©) L8 (D) 8:1
The ratio of the height and transverse height of a cylindrical cone is 4:5, then the ratio of

78.
the transverse height and the radius of the base is
R (B)" 3:5

(A) 5:3 _
(€) 7:5 (D) 5.7
b TEgEITE g T § o ThuH RS 4:5 70 @ 1 ok Sevel @ S
AAER TS I8 2(F ? -
(4) 53 (B) 3:5
()75 (D) 5:7
79.  The square root of the product of two roots of the qﬁadratic equation x> —6x+4 =0 is
(A) 2 (B) 4 -
(C) 16 (D) 3+ \{g
x° = 6x +4 = 0 fawre iy Ferefers e orprer 39fge 77w 2
e (B) 4
Ereie | (D) 3+45
80. Ifthe difference bet : T
Then the muation?sweﬁn tWo roots of a quadratic equation is 3 and the constant term is 4
(A) P-5x+4=
e (B) x¥*-3x+4=0
D) P-3x-4=0

‘(]%) X-5r—4=
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(A) x;-5x+4=0 . (B) 12 Ty,
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8. Theq: T
Sides of 4 Triangle are 3cm, 4 “Mand s ... .
(A) 5 o2 Sem, The

275 LS50 G 7P 0TS e,
(C} i‘q. le ‘I)} | {Q. , Eerh—; 1
7 €M
ﬂﬁ%mwaWEmﬁ 4 By
5 O ) w
PO g 0= ﬁﬂhﬁ"‘ﬁﬁ‘,ﬂ
(A) 53y (B) 1475 44
© 22 44 W
14 oIy (D) *?-5- ¥ iy
82. At S Simnle |
A w]laturate of simple interest an amount of money will doyubje in 4 years 2
(A) 16% . (B) 259 (C) 509 (D) 649,
WWWWWWW4W@ - fRe e 2 -
(A) 16% (B) 259, (C) 509 (D) 649
83. Find simple interest on Rs. 3000 at 6% per annum from st January tg 26 May, in 2005,
(A) Rs. 36 . (B) Rs 48 (C) Rs. 60 (D) Rs.72
2005 3Aitery 3 Wﬁmzﬁmmwﬁw% I A7 e 3000 51919 3% = 9
(A) 36 Grat (B) 48%rer (C) 60 Gt (D) 72 B

84. Ramesh Baby sold a clock at Rs, 300 and incurred a Jogs of 25%. If he would have to
make a profit of | 6% then at how much higher price, he should have sold the clock ?

(A) Rs. 164 " (B) Rs.173
(C) Rs.185 (D) Rs.187
Wﬂﬁﬂ%:«mﬁfwﬁﬁﬁﬁﬁmat@%mﬁf%wzs%ﬁ%ﬁtﬁla%mm
SR ¥l i @ Re e rere s O P BT Ry wre 2w 0
(A) 164 G | (B) 173 Braw
: (D) 187 Bray

(C) 1850t

placed side by side to form a rectangular cube. What is the
arger rectangular cube ?

(B) 46 cm

85. Two cubes of edges 4 cm are
length of the diagonal of this |

(A) 47/3 em

(B) 46y
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General anwledge

. Category-| (Q 86 to 95)
(Carry 1 mark eiach. Onj

¥ one option is correct, Negative marks: —14)
8“. h‘a"ra]

(A)

Staff in a subm

arine can see objects at the surface of water with a
Stcthoscope

(B) Periscope (C) Kaleidoscope (D) Telescope
@rmﬁmﬁmﬂmmfhm?
(A) TBrAITH (B) Tefscrs (C) FIMARCETHA (D) s

87. Which of the following musical

Instruments is played by Amjad Ali Khan ?
(A) Veena

(B) Tabla (C) Sarod (D)
%mmmwaﬁmﬁrﬁm?
(A) S (B) &34

Sitar

(C) =M (D) Trew

88. The hottest planet in the solar system ?

(A) Mercury (B) Venus
TR ITes SRey a7z A £ 7

(A) (B) ow

(C) Mars (D) Jupiter

(C) %= (D) I=™~ifs
89.  Exposureto sunlight helps a person improve his health because
(A) resistance power increases.
(B) the infrared 1i ght kills bacteria in the body.
(C) the ultraviolet rays convert skin oil into Vitamin - D,
(D) the pigment cells in the skin get stimulated and produce a healthy tan.
T AT L S Rire =y g Tt |
(A) o 2fSrar wet 2wy |

90. Fire temple is the place of wors

hip of which of the following reli gion ?
(A) Buddhism. (B) Shintoism
(C) Christianism, (D) Zoroastrianism

(Parsi Religion).
(Fire temple) [SIEK (e HCES Sopfay TR ?
(A) g &f

, (B) Tt af
(©) Jgwf - (D) ®EW (o 1) peolom
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{A;c Umtu:i Natmns Orgﬂmzatiun has itg I Cadquy ]
NG ar c
Delp; (B) London (C) t
S i New y Ork
(A
) g (B) e (©) Fegyr

92 The

94.

ita (B)  Queen Elizape,
(©) Florence Nightingale (D)  Princess Djang
TS B2 1 sy s I O 7 7
(A) o Ao (B) ¥ qferaay
©) TRerare (D) =73t By
93 “The Great Barrier” Reef is in which country ?
(A) China (B) Australia (C) Ireland (D) Singapore
T =fwre e (9 70 w3fyw 7
(A) B (B) wTgfery (&) TEASEL (D) Frrrg
Of the following diseases which one is caused by insect bite ?
(A) Dengue (B) Scurvy (C) Pneumonia (D) Asthma
MBS I ta1fs srerarg amarwy T 7
(A) TSl (B) & (C) fAerfa (D) e

95.  Which of the following is the largest air pollutant 9

(A)  Carbon dioxide (B) Carbon monoxide

(D) Hydrocarbons

(C)  Sulphur dioxide

(B) I MAHRC
(M BITeaE
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Logica) Reasoning

c Category-1 (Q 96 to 100)
a 7 sl "
Ty 1 mark egcp. Only one Option is correct. Negative marks: =14)

96.

Which of the following relations js most analogous to LIGHT : CANDLE ?

(A} EKEI‘GiSE * Strﬂﬂgﬂ'l fE:l Car : EI‘I}_.’il'l'i'-.

(C) Diering:(}vcm*cight (D) Power : Battery

97. Howis David’s father’s only daughter-in-law’s son’s wife related to David @
(A) Daughter (B) Daughter-in-law
(C) Niece (D) Granddaughter

98. 36,34, 30, 28, 24, % What number should come néext ?
(A) 20 (B) 22

(©) 23 (D) 26

99.  Find the missing terms,

(a) (b) (c)
(A) 25 . (B) 37
(C) 41 : (D) 47

100. 6, 11, 21, 36, 56, ?

(A) 42 (B) 51
(C) 81 (D) 91
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